Homework: 4.4 Composition Functions and Operations			Algebra 2				Kitt
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For1-9: Let f(x)=2x—1, g(x) = 3x, and h(x) =x" + 1. Compute the following:

T fe(3) 2. 0() 3 @b
4. fig®()) 5. h(g(f(5))) 6. g(f(h(-6)))
7.8(x+1) 8.g(3a) 9.1(x-2)

For 10-11: Let f(x) = -3x + 7 and g(x) = 2x° — 8. Compute the following:

10. f(e6) 11 @D

1 T F0=3x-5 md g(0=x", 1, T 70 =-9x-9 and g()=x-9,
"~ find (£og)3) " find (feg)10)
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If f()=—4x+2 and g(x)=Vx—8.

™ (fog)12)

1 i (g 12)

Given f(x)=2x~5 and g(x)=x+2,

15 find (o))

If f()=-2v+1 and g(x)=vx* -5,

If f(x)=-3v+4 and g(x)=x,

1 fnd (g2 14-2)

Given f(x)=-9x+3 and g(x)=x",

7 find (o))

1o Given f(x)=x"+7 and g(x)=x-3.
© find (Feg)x)
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If f(x)=x* =1, g(x)=2x=3, and h(x) = 1-4x, find the following new functions, as well as any values
indicated.

Loa (f-g)x= b (f-2)0B)=
2 a (g+Ni0= b (g+/)-2)=
3 a (f+hm= b (f+h)0)=

4 a (g-h(x)= b. (g-h)y4)=




